TR E 2015 FMH —HFFE RS
WS () B ( ) HE )

REHEMS (100) +Hi4 (20), #&H4 (120) 4y, EiRBEFE (60) 43r%h
AR EEZUWREBREREZTBRRAEME HEE, EEBEER. KlELZT—FLH

—. T (34rX12=36 %)

o%x i, /3= dox 75 S2HE A 2
2. HEEARAN: —342 ~-243.

s qem (22 o
a 186
4. fbfiiN252—24* =

e St 4
5. 2 20, LN /—f =

6. KT x MR x® —k—1x—1=0 BB NG R LHAR, NSLH & 1HUE

=)
rE

-3

R Gx =) (x +1) = 5 BRI AU

AREER By — 1 < 2x e R

0

9. L 2x? —x = 0 IR 2
10. T x ITFE (e + 1) + k = 2 WA SeHo, ) & o BUE 36 2

1L a+b+c=0, AT ax® +bx+c=00H RN

2. R x=-12FEx>—x+2a=51—M#E, Bla=

L (34X6=18 4)

L AT xR @ ax’ +bx+c=0 : ®a2x+£:6; @5—x+x" =(x+1)";
x

@5x* =7 +2x =0 e —E kA C .
(A) 14 (B) 214 (C) 31 (D) 4.
2. At AR (-5)2 x3 15 ( )

1/3



(A) =543 (B) 53 (C) +543 (D) 30

a+2

3. Y4 5 BHENE, a FBUETEHEZ ( )
7
(A) a2 (B) a>2 (C) a#2 (D) a#t—2
4. XF xW—n AR a’x” —ax—1=0 R 15N C )
(A) BHALEA (B) AN AAHER LR ;
(C) WAHSEZHIR (D) M a FEUERE.
5. MR FE X —dx—1 =08}, BTGB TR ( )

D (x-2)° =1 B (x+2)°=1 (0O (x-2)*=5 M (x+2)*=5

6. FHIRT x KT FEHR — & A LEUR I 2 ( )
(A x*=x+1=0 (B) x*—=mx—-1=0
) \/Exz—2x+1:0 M) x*—x-m=0

=. fi%& (8+6+8+8+8+8=46 %))

LD E. Bx—+/3) =27 (2) MM 2x° —4x+1=0
2. DHI%MEAABC, BC=8, AB. AC (K RFT x 52 x> —10x+m = O (F/ME, K m 1o1H.

3. ESEHEEMAMER: (1D x*+4x-3 (2) 2x*y* —4xy -8

4. % o<ty M Jx—1 2+ — ook p—4
X X

5. CURIET M x R x® +2x —k = 0 — MR N2 +1, SROFRZI S — MR & (M

6. X IR JRAEAT EIZIMIXICER] IR I, %) K™ BRI ] A, ERAE E R, P A
W, ) EHBEG KRy 36 3, FEENERG, %) JUE D PIIIRONIA B, — T3 T HE RS K
ITACEE, R AR AL B S AT KRR BCR > B 17.64 30, G SR VA B e S KR (R E 23 2R AR
CIp

(1) SRR I 7y 2% 0

(2) W RS —WRAB AR HER 1 5K, B3N 2 576, S IIRRE/D SRR 1 T mET5 K,
N 3 F70, MR LR 2T

2/3



VO, Ffthn (10 43X 2=20 43)

1. 772 (2002x)” —2001x2003x —1 = 0% kiR N a .

ik x® —2002x —2003 = 0 (i MR R b, K (a+b) " ffh.

o 1L \/ Ix2x3+2x4x6+---+n-2n-3n
. H): o
Ix5x104+2x10x204---+n-5n-10n

3/3



